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Mother's Arithmetic • Time & Work

1. A pipe can fill a cistern in 8 minutes and a

waste pipe can empty 6 kilo liters water in one

minute. If both pipes are opened together and

the empty cistern can be filled in 20 minutes.

What is the capacity of the cistern?

8

1 6

20

(A) 100 kilo liter (B) 80 kilo liter

(C) 120 kilo liter (D) 160 kilo liter

2. There is a leak in the bottom of the tank. This

leak can empty a full tank in 8 hours. When

the tank is full, a tap is opened into the tank

which admits 6 litres per hour and the tank is

now emptied in 12 hours. What is the capac-

ity of the tank? (CAT Previous Year)

8 

6 

12 

(a) 28.8 litres (b) 36 litres

(c) 144 litres

(d) Cannot be determined

3. A leak in the bottom of a tank can empty the

filled tank in 10 hours. When the tank is full,

an inlet pipe filling water at 4 liters per minute,

is opened and due to leak the tank is emp-

tied in 15 hours. How many liters  does the

tank hold?

10

4

15

(A) 6000 liter/ (B) 8000 liter/

(C) 7200 liter/ (D) 9000 liter/

4. Two inlet pipes can fill a cistern in 5 and 6

hours respectively and an outlet pipe can

empty 24 gallons of water per hour. All the

three pipes working together can all the empty

cistern in 10 hours. What is the capacity (in

gallons) of the tank?

(A) 90 (B) 180

(C) 60 (D) 120

5. Two inlet pipes can fill a cistern in 20 and 24

hours respectively and an outlet pipe can

empty 160 gallons of water per hour. All the

three pipes working together can fill the empty

cistern in 40 hours. What is the capacity (in

gallons) of the tank?

(A) 1200 (B) 2400

(C) 3600 (D) 1800

6. Two filling pipes can fill a tank in 8.33 min-

utes and 12.5 minutes respectively and a third

pipe can carry off 162 litres of water in 1

minute. When the tank is full all there pipes

are opened together and it is empty in 4 min-

utes. Find the capacity of tank ?

8.33 

(A) 360 ltr/ 

(B) 320 ltr/ 

(C) 440 ltr/ 

(D) 380 ltr/ 

15
TYPE
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7. Two inlet pipes can fill a tank in 36 minutes

and 72 minutes respectively. There is an out-

let pipe exactly at one third level from the bot-

tom of the tank, which can pump out 50 litres

per minutes. If all the pipes are opened, then

it takes 32 minutes to fill the tank. What is the

capacity of the tank ?

36 72 

1/3 50 

32 

(A) 3,000 liters (B) 3,600 liters

(C) 4,200 liters (D) 4,800 liters

8. A pump can be used either to fill or to empty a

tank. The capacity of the tank is 3600 m3. The

emptying capacity of the pump is 10 m3/ higher

than its filling capacity. What is the emptying

capacity of the pump, if pump seeds 12 more

minutes to fill the tank than to empty it ?

3600 m3

10 m3/

12

(A) 50 m3/min (B) 60 m3/min

(C) 45 m3/min (D) 90 m3/min

9. A town is supplied with water from a big over-

head tank which is fed with a constant volume

of water regularly. When the tank is full, if

32000 gallons are used daily, the supply fails

in 50 days. However, if 37000 gallons are used

daily, the supply lasts for 40 days only. How

much water can be used daily without the sup-

ply every failing ?

32000 

37000 

40 

(A) 12000 gallons/

(B) 15000 gallons/

(C) 18000 gallons/

(D) 19000 gallons/

10. A water tank has three taps A, B and C. A fills

four buckets in 24 minutes, B fills 8 buckets in

1 hour and C fills 2 buckets in 20 minutes. If

all the taps are opened together a full tank is

emptied in 2 hours. If a bucket can hold 5 litres

of water, what is the capacity of the tank?

A, B C A, 4 24 

B, 8 1 C, 2 20 

2

5 

(CAT Previous Year)

(a) 120 litres (b) 240 litres

(c) 180 litres (d) 60 litres

11. A water tank has three tapes A, B, and C. A fills

four buckets in 24 min. B fills 8 buckets in 1

hour and C fill 2 backets in 20 minutes. If all

the tapes are opened together a full tank is

emptied in 2 hours. If a bucket can hold 5 litres

of water what is the capacity of the tank ?

3 A, B C A, 24

4 B, 1 8 C, 20 2

2 

5 

(A) 120 Litres (B) 240 Litres

(C) 180 Litres (D) 60 Litres
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Answer

1. (B) A = 8

A + B = 20
40

5 

2

A = 5,      B = – 3

1 min. = 6 kilo liter

Capacity = 
40

3
 × 6 = 80 kilo liter

2. (B) Part of the tank emptied by the leak in 1

         hr = 
1

8
Let part of the tank filled by the tap in 1 hr = x

Part of the tank emptied by the leak and tap

together  = 
1

12
1

8
 – x = 

1

12
                x = 

1

24

Part of the tank filled by the tap in 1 hr. = 
1

24

Capacity = 24 × 6 = 144L

3. (C) A – 10

A + B = 15
30

3 

2

Capacity = 
30

1
× 4 × 60 = 7200

4. (A) Let inlet pipes A,   B,   C

C (efficiency) =  A B C   – A – B

= 3 – 6 – 5 = – 8

time taken by C  = 
30

8

Capacity of tank = 
30

24
8

 = 90

5. (B)

20
24
-40

6
5
3

120

Total efficiency = 6 + 5 – 3 = 8

Capacity of the tank = 160 × 
120

8
 = 2400

6. (A) A

B

25

3

25

2
100

A + B – C –4–25

8

12

So, C's Efficiency = (12 + 8 + 25) = 45

 T
C
 = 

100

45

So, Total volume of tank = 
100

45
× 162 = 360

ltr

7. (B) A

B

2

1

36

72
72

Let efficiency of exit pipe (C) = x

So,

72 2 72

3 2 1 3 2 1 x
 = 32

 
48

3 x
 = 24

 2 = 3 – x

 x = 1

So,

T
C
 = 

72

1
 = 72 minutes

Total capaciy of tank

= 72 × 50 = 3600 litres

8. (B) let emptying capacity = x m3/min

So, filling capacity = (x – 10) m3/min

ATQ,

3600 3600

x 10 x
 = 12

 2

10 1

300x 10

 x2 – 10x – 3000 = 0

 x2 – 60x + 50x – 3000 = 0
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 x –50, 60

capacity can't be negavily

So, emptying capacity = 60 m3/min

9. (A) Let x ltr is filled daily

ATQ,

(32,000 – x) × 50 = (37,000 – x) × 40

x = 12000 gallons

So, for without failing daily water

uses = 12,000 gallons

10. (B) A bucket hold 5L of water, tap A discharge 20

L of water in 24 min or 
5

6
 L of water in 1 min.

tap B discharge 40 L in 1hr or 
40

60
 = 

2

3
 L in 1

min.

tap C discharge 10 L in 20 min. or 
10

20
 = 

1

2
 L

in 1

If A, B and C are all opened simultaneously,

total discharge = (
5

6
 + 

2

3
 + 

1

2
)

= 2L in 1 min.

in 2 hr after all taps are opened, the discharge

would be 240 L.

11. (B)
A
B
C

6 min
7.5 min
10 min

120 min
20 buckets
16 
12 buckets
48

buckets

Total operation time  120 minutes  100%

tank is empty

48 × 5l = 240 litres


